P CMme. aoe SQJ‘ "\'SV\QQVQJV'\ 11¢

T+ (Eoa D BC
These w{)ﬁn%\\-nﬂc&w Sy (T:MQS
@, Sttt wsith 04\\/ &in:k Csk e% ft"“'"\—eS:
PPz -—-) Tn

Ni= pifr-—Pn+ )
o, o Avdss N-| , so P e N .

=) Anvy @r’m& &lv?&»‘:& N s Mt‘s&\/\a Vo
owc U

Ust . -
2z +1 = 3
TG PZZ‘?>+‘ = ?’8 l
7 2 I+l = all pane_
Pf, 2-2-S 7« =2 ~==
§Z~3'S'?~11 1 = 22|
b
T AT B \
e, . PS' RvaAs)  plaaes
Y gé%\' ,an.S'- ??“I P?S', ﬁ?‘/ P‘?Z) -

REN! \‘n%h:(«t‘f ey Qﬁmeﬁ:m\ (Iph\—»\es 2

TH Prme. aom»es Hesmm
Qp o X, e o= r&o&{z\\\/ @@‘qme&_
IQSQCK)
e % 2.HEXK. -

s
Mo%

<3S
aest | 92%
Crocia) for cr\/‘:v)-sém i
need PrllM-QS SN éﬁ"t&
! _
A~ =DDTHD

la (wag)

£G Op 4o 0, roqlly (72,2821

Fniot) NI o



